stallation Instructiol
ne: Grille Guard

sm: BB140803

STALLATION STEPS

DIl 1T match above list

» box carfully

2.Pls prepare the tools for installation, follow as k2 =il

3. Put the support bracket (B)on the girder of thejcar,and tighten it
with original bolt.

. Put the grille guard(A) on the girder of the car with M8X25 bolt

Check the parts in the

o
-

=
€2

[
o~

(O

then tighten 1t.

5. Install the grille guard(A) on the support bracket(B)- and tighten it -

willhh MGEX30 bholt(G).

Shop for quality Black Horse products on our website.

Parts

®Grille geard

14-17wrench.

{2 pieces)

f {l piece)
\
@ -
= Sy | (0
A \
] \
“@Support bracket ©M8X25 Bolt (MR Flat washer
(2 pieces)

0

@®M8 Lock washer
(2 pieces)

®MS nut
(2 preces)

{2 pieces)

@OMV6 Flat washer
(2 pieces)

@

(M6 Lock washer

(2 pieces)

Discover other grille guards and bull bars on our website.


https://www.carid.com/black-horse/
https://www.carid.com/grill-guards.html



